Numbers 0 to 10 (1)

A. Match.
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B. Write the correct number in the box.
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C. Circle the two sets which have the same !

number of objects.
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(2)
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D. Check | v | the set that has less.
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E. Check the set that has more.
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B. Join the dots in order. Begin with 1.
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Number Bonds

A. Divide each set into two parts by drawing a line.
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B. Draw the missing part.
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C. Fill in the missing numbers.

(1) (2)




D. Write the missing numbers.
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(1)

(3)
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Write the missing numbers.
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A. Fill in the blanks.

There are black shirts.
There are white shirts.
There are shirts altogether.

(2) o

o mm O

There are small fish. - &
There are big fish.
There are fish altogether.

There are
There are women.
There are people altogether.
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B. Fill in the blanks.
(1)
There are oranges altogether.
(2)
> ©> SO
© © © O
There are cups altogether.
(3)

There are 4 balloons in the sky.
Add

more.

There are balloons in all.
(4)
There are 5 robots.
Add more.
There are robots altogether.




(3) 1 +4=
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B. Tell a story for each picture.
Then complete the number sentence.

(1)

oo oo [

l

PRD PP [ -

C. Tell two different stories for each picture.
Then complete the number sentences.

(1)

+ =5

- =9
(2)

+ =/
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(3) 6+4=

(4 2+5=

(5) 3+4=

(6) 2+7 =

13

(?) 2+2=

(10) 6 + 2 =

(11) 9+ 0=

(12) 2+ 3 =

(13) 7+ 1=

(14) 4 + 4 =

(15) 1 +9 =

(16) 1 + 4 =




C. Draw and complete the number sentences.

(1) | 3 leaves Draw 3 more leaves.

3+3=

(2) | 4 snails Draw 1 more snail.

@% (&R
% S5

4+1 =

D. Fill in the missing numbers.

(1) There are 2 pencils in the pencil case.

Add 8 more. Z /
2+8=| | = ]

There will be j pencils in the pencil case.

(2) There are 3 toothbrushes in the mug.

Add 6 more.
3+6= l:

There will be j toothbrushes in the mug.
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1

I

1

E.
(1)

F.

Count forward to add.

Do these.

(1
2 |6
3) |4
4 | 2]
(5)

(2)

+ 1 /E

+ 2 LD

+ 3 \D

+ 4 ’%D

+5 _>D
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4+2={:

There are monkeys altogether.

" odd &

How many bicycles will there be?

2+1=[

There will be

bicycles in all.

(3)

How many books are there altogether?

6+2=:‘

e

/...-

There are books altogether.
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(4)

If | put 4 more stamps
in the album, how

many stamps will there
be in the album?

5+4=\:

—_—

There will be | | stamps in the album.

I |

(5)

If | draw 3 more candles,
how many candles will
there be on the blackboard?

7+3=|i

Thera will be E candles on the blackboard.
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Subtraction within 10 (1)

A. Fill in the blanks.

(1) ()B
@e%% -t

There are 7 ants.

crawl away.

ants are left.

(2)

There are 5 mangoes.

| take away
mangoes are left.

" %650 ¢

There are 4 tricycles.
David rides one tricycle away.

tricycles are left.

" WA A AR

There are 10 animals altogether.

8 of them are goats. The rest are dogs. @t@

There are dogs.
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|
o | B. Tell a story for each picture.
Then complete the number sentence.

! SHE S SEP
S S AR

0oC

=3 |

(2)

C. Fill in the missing numbers.

ANNGYeleloYe o BERRE
BOS® s

(2) 3-2=

Of¢ oo
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A. Subtract.

(1) (2)
@ " — 3
O 7@ - e
6-3=
(3) (4)
<
2-1=
() (6)
(7)

20




B. Subtract.

(4)

(3)

(6)

(7)

21

(10)8-2 =

[} 8§~ 1 =

(T2} 2—2 =

(13) 8-35 =

(14] ¥~ =

(15) 10— 4=

(16) 9 ~i3




(1)

(2)




C. Write two addition sentences and two subtraction
sentences for the picture.

| A A
st

OLJ-L OL=L

D. Use the numbers and signs in each box to write
a number sentence.

(1) 13,5,2, =, - (2) 14,10,6,= +

(3) ],« 6; 7; =, + [4) 0; 8: 8: =T
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E. Count backwards to subtract.

(1) & % (2) 2

F. Do these.

@
O

©
O
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Fill in the missing numbers.

(1) D
o

How many apples are left?

G=1 =

apples are left.

" 000004
How many papayas are there?

7-2=| |

There are papayas.

(3) ﬁqﬂfﬁhgiﬁgﬁﬁﬁh§F %2252%%?

How many more dogs than cats are there?

5-3=| |

There are more dogs than cats.
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(4)
oo
will there be left?

If | take 7 cookies
away, how many
cookies will there

How many birds are left?

_OL-L

birds are left.
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(7)

w

There are 5 caterpillars in all.
How many caterpillars are hidden?

, OL-

) [ caterpillars are hidden.
(8)
o { N\
7 Cindy Maria

How many pins does Maria have?

JOLA|

Maria has pins.
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2nd Ath

B. Color.
1y | Theczed fog. N
ET < >ﬁ| & T E?E
J E‘D/ L)// ' ) l
Ist
(2) F2|<i’re5.

13333
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(3)

(4)

The 4th book.

4 rulers.

Ist

C. Draw.

(1)

{2)

A flower in the 5th vase from the right.

000000DDDT

An apple on the 8th table from the left.

7 i 7 ) £ £l £
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(1) &>
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T

(1) eleven 1315 11

(3) twelve 2012 18

(5) thirteen 1317 14

(7) fourteen 19 14 20

C. Circle the correct number.

(2)
(4)
(6)
(8)

sixteen 20 16 12T
seventeen | 17 11 18
eighteen 161918
nineteen 201913

D. Fill in the missing numbers in the boxes.

(1) 5
PR (8

O @ ~ 00

10 and 5 make E

o) SR <Se

=3
MisDand[-

" BBsBs oo
BBBBR PP
i ]0+6=[]
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E. Complete the number sentences.
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a F. Join the dots in order from 1 to 20.
|
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G. Fill in the missing numbers.

EEEEE
L

0.0 0 0 O

H. Circle the smaller number.

(M 115 11 (2) 13 20| B |17 14

= ) )
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I. Color the greatest number.

(1)

R e

J. Write the numbers in order. Begin with the given
number.

14 12 11 9
10 8 13

A \VAVAVAVAVAVAN

K. Arrange these numbers in order. Begin with the
smallest number.

16 11
20
14 18

L. Arrange these numbers in order. Begin with the
greatest number.

O O

12 7
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Addition within 20
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(15)

16 +1 = 5+13=
35



Subtract.

" oopoe " RIBLYD
cerre DLLLQD
10-6= 10-2=
P RRBRE (W w44
i I
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14-10 = 18-10 =
(5) (6) &8 8,
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(9)

(10)
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A. Write ‘+’ or ‘=’ in each O

(1)
(3)
(3)
(7)
(9)

B.
(1)

(3)

(2 16( )10=6
(4) 18( )9=9
(6) 14( )2=16
8 17( )9=8
(1004( )12=16

Write a number sentence for each set.

‘@1&7,3=

12,6, 18, +, =

(2) 120 10,10, +, =

(4)

17,16, 1,-, =

38




. ad
! C. Write 4 number sentences for each picture.

(1)

Q . e —

|&pds a@»\ .),
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OO
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A. Color the shape that matches the obiject.

NOVANR




!IV B. Color the shape that fits the shaded part.

(1)
0 [ e
] (2)

] (3)

(4)
r\.




}

|

/

C. Match the shaded face of each object to the

(1)

(2)

(3)

(4)

correct shape and name the shape.

42
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A. Draw.

(1) Draw a bigger rectangle. | (2) Draw a smaller triangle.
(3) Draw a smaller square. (4) Draw a bigger circle.

B. Color the train below in this way:

squares red rectangles —— green

black

triangles yellow  circles

.00

OO O OO

43




B. Color the shape that comes next.

(1)
DHT T

OO » O

VeoVoaVo »

(4)

(2)

OorCOnonO »

(5)

OALILIOALILIOA O
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A. Draw.
(1) A longer stick.

(2) A shorter string.

T

(3) A taller bottle.

(4) A longer wire.

B. Color.

The tallest coconut tree.

The shortest flagpole.

I H
\\nﬂ Leasiosints; L)}“’- ' hﬂh L) I

45




(1)

(2)

Fill in the blanks.

c (1) Tape is the shortest.
i -A:— | (2) Tape is the longest.
= B — (3) Tape D is shorter than Tape
L 1 1B D

(4) Tope A is as long as Tape

Fill in the blanks.

B e
o>

=.

The pencil is as long as

|
|
L

The chopstick is as long as
46




E. Fill in the blanks.
(1) Use == as 1 unit.

CEC R EC B B

The length of the duster is units.
(2) Use =—==as 1 unit.

T:dl'.li||11J_uJ_Lli_lnllu|]|||l[||1|l||n[llllTlnnlllnlnl:[
[ — == — -]

The length of the ruler is units.
(3) Use === as 1 unit.

R

i —=>

The length of the knife is units.
F. Fill in the blanks.

1 unit
A ‘ l ] }lunil
| T
D
- C

(1) Rectangle A is units long.

(2) Rectangle B is units long.

(3) Rectangle C is units long.

(4) Rectangle D is units long.

47




A. Write ‘heavier than’, ‘lighter than’ or ‘as heavy
as’.

(2)

(3)

The pineapple is the apple.

48




B. Fill in the blanks. Use =— as 1 unit.

units.

(1) Bottle A weighs
(2) Bottle B weighs
(3) Bottle
(4) Bottle
(5) Bottle A is lighter than Bottle

units.

is the lightest.

is the heaviest.

C. Fill in the blanks. Use O as 1 unit.

&la
. &la &l

(1) The banana weighs

units.

(2) The cabbage weighs units.

(3) The cucumber is heavier than the
(4) The
(5) The

is the lightest.

is the heaviest.

49




Comparing Numbers (1)

A. Write ‘Yes' or ‘No’ in the boxes.

(1)

(2)

(3)

(4)

FEEE eee

There are more vases than flowers.

.

There are more boys than balls.

22228

There are more plates than cups.

50




B. Draw.

(1)

(2)

Draw 1 more apple.

BHO OO0

1 more than 6 is

—

Draw 1 more star.

WWW

1 more than 3 is

C. Cross.

(1)

(2)

Cross out 1 fish.
PES

1 less than 10 is

Cross out 1 crab. & &% &
£ 8 5

1 less than 6 is
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A. Join each balloon to the correct answer on the
number line.

O 1 2 3 4 5 6 7 8 9 10
B. Fill in the blanks.

(1)

(2)

There are

more boys than bicycles.

2



C.
(1)

Fill in the blanks.

Mary's pins

Siti's pins

gﬁ
3

(2)

O
O
O

O

John's

rubber bands

Robert's
rubber bands

has more pins. has more rubber

She has more bands.
pins. He has more
rubber bands.

D. Do these.

(1) How many more papayas than bananas are there?

= 00000044
There are more pcpaus ’rcn bnqnos. |
(2)
§-5=
There are fewer flowers than girls.
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cars

trucks | scooters

B. Our storybooks.

Wendy's
storybooks

Larry’s

storybooks

Julia’s

storybooks

(1)
(2)
(3)

(4)

(1)

(2)
(3)

(4)

54

There are scooters.
There are 5

There are more
scooters than cars.

There are fewer

trucks than cars.

Larry has
storybooks.
has 6 storybooks.

has the least

number of storybooks.

They have

s’rorybooks altogether.



C.

D.

Fruits in a basket.

*
*
*

* % % % %
X % 3 % O % %

pear | apple |banana

Each * stands for 1 fruit.

Toys we like best

AT

robot | drum | car doll

Each B stands for 1 child.

(1)

(2)

(3)

(4)

(1)

(2)

(3)

(4)

(5)

55

There are fruits
altogether.

The number of is the
greatest.

There are fewer

bananas than pears.

There are

pears.

children

who like drums best.

There are

The are more
children who like robots than

dolls.

Drums are as popular as

The most popular toy is the

The least popular toy is the
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nt and write the

the boxes.

A. Circle groups of 10. Then cou

number in

twe

kies to the boxes.

’rhirfy-nine

thiri’y-six

e

B. Match the coo

@

nfy

\ twenty-eight




N

C. Write the numbers.

(1) | twenty-three | (2) | thirty-five (3) | twenty-nine

(4) thi rty-one (5) thi rty-seven (6) Forfy

(7) twenty-six (8) thirty-four (%) twenty-two

D. Fill in the missing numbers.

W

(1)
ﬁ 22 25 27 | ] ’

(2) W

40 34"33
= otoleg
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(2)

2 more than 30 is

B. Fill in the missing numbers.

(1)




—

C. Fill in the missing numbers.

1| 2 5 | 6 10
13 16 19
21 24 27 30
32 35 37 40
D. Fill in the blanks.
(1) 1 more than 26 (2) 1 more than 35
Is is
(3) 1 less than 30 (4) 1 less than 16
is is
(5) 1 more than 39 (6) 1 less than 20
is is
(7) 2 more than 25 (8) 2 more than 18
IS is
(9) 2 less than 35 (10) 2 less than 31
Is IS
(11) 2 more than 19 (12) 2 less than 15

Is

59
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(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

Fill in the blanks.

arale

21 is greater than

33 is smaller than

The greatest number is

The smallest number is

Fill in the blanks.

DEE

24 is greater than

35 is smaller than

is the greatest number.

is the smallest number.

60
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(2)
= 22 22 MOLM

27 = tens ones | (4) 34 = tens ones

(1)

Write how many tens and ones. Then write the
number in the box.

o5 & ¥t 323
o &

)._:ﬁ*?- }..3 3 é}

Tens | Ones

61




(3)

Tens | Ones
—> ¢
C. Fill in the blanks.
(1) emee eoesms |(2)

PR FER SR &R
FFIRETR/ER 92629
PR PRl SE3898)

)
TSI
271G
PRTIET]

1 more than 29 is

10 more than 29 is

i U
1334 ﬁﬁ%

148

1 less than 24 is )

10 less than 24 is

(3)

|
|

1 more than 32 is

10 more than 32 is

(4)

62
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1 less than 35 is .

10 less than 35 is




Addition within 40

A. Fill in the blanks.

(1) MIOIIIII14m (2) DAAALAAAAAN
(IIITTITIT1] TATATATAT ST AVATATATAL
o D AAANANANDADAN




(8)
~ &
O Y % @% :
e TN =
S %
13+8=___ 26+6=___
9) Dl 10
(9) e %% (10) @% i
TXEREX e Qo0 900
LRLRILR X Y QOO0 QOO
U NN e
R ITR o0
xR 900 O
e Terly 0000 0O

16 +9=_
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B. Add.

(1) 4+1= (2) 2+2=
14+1= 12+ 2=
(3) 6+ 3= (4) 5+4=
26+ 3 = 25+ 4 =
(5) 3+5= (6) 2+ 6=
33+5= 32 + 6=
{7) 9+2= (8) 7+6=
19+ 2= 27 + 6 =
(9) 8+4= (10) 8+7 =
18+4= 28+ 7 =
(11) 9+ 5= (12) 4 +6=
29 + 5 = 34 + 6 =

65



- Subtraction within 40

A. Fill in the blanks.

20
& ©oo0
AT
See &
30-2=
(4)
‘Slu wlelululululele
SOOI OE
cslelwiulululaluiuo

30<~7 =
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H0-1=__ 30-4=

" geen
s
HHEES

R

20-3=

ARV B X R A DAL (12)

RR R W VivivivIviVIVvIVIV;
714243 TR VIVAVIVEVAVIVIVIVAY
RURXRYL 090 QQVIY Y

R8> S VEVEVEVAVIVIVEVE- 44
KRR R IR R

30-9=

(10)

384
384

il

éééé

il
il
ol

wwmmwm

20-5=

40-2=




B. Subtract.

(1) P (2) 5-7
22-1= Ia~2=
(3) 4-3= (4) 8-4-=
34-3 = 38 =4 =
(5) 7-8= (6) ?-6=
37/-5= 29— 6=
(7) 11-4= (8) 13—8 =
21-4= 23—=6=
(?) 14-56= (10) 15«7 =
34-5= Jo .
(11) 16-9 = (12) 1#— 8=
26—9= 37—8:

68



C. Add or subtract. Then match the answers.

(1) | 5+4=
2) | 4+10=
(3) | 12+8=
(4) | 2+ 14=
(5) | 26+5=
(6) [13+20=
(7) | 17+8=
(8) \3+12=
(9) b0+16=
(10) | 39+ 1 =

69

40 - 20 =

30 ==

20-4 =

23=9 =

19 =10 =

36~3 =

27 ~1=

23-8 =

40-0=

36-10=
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!] B. Add and write the answers in the circles.

|

; 4195 |—a()
7 8 |—b( )
2 6 | <)
|

L

-
O O

. 5169 |—a()
1127 |—b6C)
8| 4|3 |—<C)

o oel
O O O
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A.
(1)

5+5+5=___

3 fives =

2+2+2+2=___

(2)

4itwos=__

? LELEHEEEE
IS ISSITITS

There are

ducklings in each group.

There are

ducklings altogether.

There are

scouts in each group.

There are scouts altogether.
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uéj {%“ ?

There are
There are

groups of 3.
flowers altogether.

© &5 & L0, 49
& &0 0 &

There are 8 groups of
There are apples cltogether.

B. Draw. Then fill in the blanks.

(1) Draw 6 @ in each rectangle.

2 groups of 6 =

(2) Draw 5 A in each square.

4groupsof 5=__
73



Multiplication within 40 (2)

A. Match.

3 x 2 4x6 5x7 \

5 groups of 7 Multiply 4 and 61 3 groups of 2

B. Complete the multiplication sentences.

(1) (2)

ER
aper,\ | SeEv
o0 (Bge) | BR S5

L 6\dE =&

X = 10 X =24
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(1) Draw % to show 4 x 2 = 8.

(2) Draw ¢ to show 3 x 3 = 9.

75



Division within 40

Fill in the blanks.

1@@ £
@62 2 2 &g

The ladybugs are put equally in

groups.

There are ladybugs in each group.

(2) Draw an equal number of candles for each cake.

IR

There are

candles on each cake.

(3) Put 20 trees equally in 5 groups.

YEPRIVROQRR
PERVILLOPRED

There are

trees in each group.
76



(4) There are 24 orchids.

There are groups of 3.

(3)

)

D0 OO0 O© O C
efeNoNoNcNeNoNoNe
D000 0000O0 0 O C

There are 30 buttons.

&

®
O 00O

Lindsey uses 6 buttons on one shirt.

She makes shirts.

(6)

Dan has 21 turtles.
He puts 7 turtles in one tank.

He uses tanks.
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Halves and Quarters

A. Color the picture that shows halves.

(1)

(2)

S

B. Color a half of each of the following shapes.

(1)

(1)

d
AN

78
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A. Match.

y 12 o’clock ]

[ 2 o'clock \

6 o'clock

‘ 4 o'clock ‘

( half past 1

' half past 7

half past 9 I

half past 6

79




C. Write the time shown on each clock.

(1) (2)
(3) (4) :
() (6)
(7) (8)

80




$s tm

thirty-seven sixty fifty-one

B. Fill in the boxes.

ROdA

hibh =2

j tens > El D tens ones [ >

81




C.

D.
(1)

(1)
(3)
(5)
(7)
(9)

Match.

’ forty-five ninety-nine

seventy-three

8 @3

\ eighty-two \ fifty-four

sixty-one

Write the correct nhumber.

GOOG0

FEFFFL

& & oo

Write the numbers.

twenty-seven (2] forty-eight
fifty L (4)  thirty-six

seventy-five __ (&) eighty-three
sixtyfoor __ (8) thirty-nine
onehundred _ (10) ninety-one

82




F. Fill in the missing numbers.

“’ﬂﬂﬂ

\/

TEERREL

57
\

/
1 17]

G. Write how many tens and ones. Then write the

number in the box.

(1)

£cd &b &2 @ |

Tens TOnes

e ey

2) Tens Ones'
19)10) (10) (10 1 —> ]
DODOD

(3) Tens Ones’
DDD O =L
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Numbers to 100 (2)

A. Fill in the blanks.

11 14 17
22 25 30
33 36 38
41 44 49

52 85 57

63 66 70

B. Write the numbers in order. Begin with the
given number.

(1) 15 |44 40|, . :
46 | 40 The smallest number is

The greatest number is

(2) 25/, ; ,
(30]
%@

The smallest number is

The greatest number is

(3) A 84/, ; ;

The smallest numberis
74 ; 54

The greatest number is
84




C. Fill in the blanks.
() Crrrrrrrrrri|(2
LI L [ T T T T T T ] m @
) &B T &
LI T T T T T T T T T ]
= Td B
1 less than 41 is 1 more than 63 is
10 less than 41 is 10 more than 63 is
D. Fill in the missing numbers in the table and then
fill in the blanks.
72 /75|76 80
84 86 89
21 93 95 98
(1) 1 more than 74 is
(2) 1 less than 91 is
(3) 10 more than 87 is
(4) 10 less than 84 is
(5) 2 more than 90 is
(6) 20 less than 97 is
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Addition within 100
A. Fill in the blanks.
?‘i:t. ' 1:‘:%\ é‘}:‘%t ¢
28 40 é,fa\%}a %
PIRN FIRR RN Y ﬂ%
34 + 3 =
(2) :
47 + 6 =
B. Add.
(1) 4+2= (2) 1+3=
24 + 2 = 31 +3 =
3] 2+5= (4 3+4=
42 + 5 = 43 + 4 =
(5) 7+3= (6) 8 +5=
87 + 3 = 68 + 5=
(7) 4+9= 8) 6+6=
44 + 9 = 56 + 6 =
86




C.
(1)

(2)

(3)

(4)

(5)

(6)

(1)

(2)

Add.

3tens + 1 ten = ferys
30+ 10=
4 tens + 2 tens = tens
40 + 20 =
3 tens + 4 tens = tens
30 + 40 =
6 tens + 1 ten = —
60+10=__
1 ten + 8 tens = tens
10 + 80 =
5tens + 5tens = tens
50+50=___
Add.
0T~ 8 i 03
i
60008000 2
88062
47 + 20 =
| el
AR L 2.:::.' " :'
30+53=_




Add.

(1) 20+ 30 = (2) 40+ 30=
20 + 32 = 45 + 30 =
(3) 50+ 10= (4 10+70=
57 +10 = 12+ 70 =
(5) 30+30= (6) 60+ 20 =
30 + 34 = 60 + 29 =
(7) 70+ 20 = (8) 40+ 50 =
73+ 20 = 40 + 58 =
F. Add.
(1) 27+10+2= (2) 23+20+ 3=
27 +12 = 23 + 23 =
(3) 34 +10 + 5 = (4) 42+ 30+ 6=
34 +15= 42 + 36 =
(5) 25+30+7= (6) 38+ 40+ 8 =
25 + 37 = 38 + 48 =
(7) 56 +20+ 9= (8) 69+30+ 1=
56 + 29 = 69 + 31 =

88




POV VYBYPY

(2) PPV PP®
NAVAN AR D RN RN A
Ru s NN VRN AN AN
N RN RN RN AN 62 -8 =
LA AR NN R TN
A
B. Subtract.
1y 7-2= 7 #=3e=
47"'2 = 56—3 =
(3) 12-8-= (4)> 13-8=
52 -8 = 63 -6 =
(5] 11-7-= (6) 14-9=
/71-7= 84 -9 =
7} 15-8= 8) 16-7=
95_8 = 66—7 =

89



C. Subftract.

(1) 6 tens — 5 tens = ten
60 - 50 = A
(2) 8tens—1ten = __tens
" 80-10=
(3) 9 tens — 6 tens = tens R
90 - 60 = —
(4) 7 tens — S tens = tens
(5) 10 tens — 8 tens = tens
7 100-80 = | T
(6) 8 tens — 3 tens = tens a
80-30=__
D. Subtract. )
(1) Bt maoce o -
f\@@@@_@ﬂggg%* )
Faoaoaeamene B 0-——
@@%‘E} el ad &
(2] e,
LT LT ITTTTTTTSS
oo ® 64-30=__
- POPOPOOOOO®
CPOPPPOPOPTO®
ocee
5 J\J i




Subtract.

(1) 20-10 = (2) 40-30-=
27 - 10 = 49 - 30 =
(3) 50-20= (4 60-10=
55-20 = 64 - 10 =
(5) 70-40 = (6) 80-20=
72 — 40 = 86 - 20 =
(7) 90-50= (8) 90-60=
98 - 50 = 91 -60 =
F. Subtract.
(1) 36-10-3= (2) 45-10-4=
36-13 = A5 - 14 =
(3) 48-20-7= (4 57-20-2=
48 - 27 = 57 - 22 =
(5) 52-30-8-= (6) 61-30-2-=
52 - 38 = 61 -32 =
(7) 70-40 - 6 = (8) 86-50-9-=
70 — 46 = 86 — 59 =

21



(2)

(3)

(4)

(5)

(6)

$20

$10 ||

$1

$20

$5

$10 || 10
31

K

92




B. Write the amount of money in each set.

(1) (2)
¢ ¢
(3) (4)
|
e | e
15) (6) |
[ 55 | IR E.'M s ]
ENlER D L&
$_j st |[ st | $j
(7) (8)
si |[ &1 |[ s | $20 || $10 |
BRIE s |[ &1 ]

| |




C. Check | v | the set that has more money.
(1) (2)
DIOIOID CHO
D. Cross | X | the set that has less money.
) §20 3% 12) | 520 |[ s20 || s10
s10 L 1° 5 || 8
s [ s ] RN
w ]
E. Check | v | the set that has the most money.
Cross | X | the set that has the least money.

‘@@ |

109 (109) (109 19
o

94




blanks.

(1) Which cost more, the shoes or the sunglasses?

How much more? |
1O~

more than the

The cost $

(2) Fatimah bought the doll and the book.

How much did she pay?
L JOLJ-

She paid $ .

(3) Cameron had $5. He bought the hamburger.
How much money did he have left?

L 1O L=

He had $ left.

@5




(1)

Do these.

lan paid 80¢ for the pair of scissors.
How much money did he get back?

_ N
Q @0&\

He got ¢ back.

(2)

Sally wants to buy this box of cookies.
If she has $1, how much more money
does she need?

O LJ-L

$3

She needs $

(3)

Emily bought the pencil and the ball-point pen.
How much did she spend?

@ P

She spent ¢.

55¢]\

(4)

Amelia spent $27. Tyrone spent $52.
How much more money did Tyrone spend than Amelia?

O

Tyrone spent $

more than Amelia.
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C (1)1 (2)
D (1) 4 (2)
E (1) 4 (2)

A (1) 9 (2)
15) 5 16)
B (1) 9 (2)
(3) 7 (6)
(9) 4 (10}
(13) 8 (14)
c(n ¢ (2)
D (1) 10,10 (2)
E (1) 4 (2)
F (1) 6 (2)
(5) 10
(1) 6.6 (2
(5) 10, 10

Exercise 8

A(l) 2,5 (2
B (1) 6.4 (2
C (1) 66, 3(2

A1) 5 (2)
(5) 1 (6)
B (1) 6 (2)
(5 3 (6)
(9) 1 (10)
(13) 3 (14)
A1) - (2)
B (la) + (1b)
(2a) + (2b)

C 5+44=9 9-4=5 4+5=9

(3)
(3)
(3)

o th O~

4, 4, 8(3)
10 (3)

(2)
(4)
(2)
{2)

(3)
(7)
(3)
(7)
(11}
(15)

@ 0 0 o o0 N b

(3)

3,3 (3)

(3)

L%

— iy —
W N

(3)
(7)
(3)
(7)
(11)
(15)

MMM W

¥
+ (1c)
+ (2¢c)

O b —

10
10

10

OB N—= 00O

(4)
(4)
(4)

MWW

(4) 1
(8) 8
(4) 7
(8 7
(12} 5
(16) 5

4 6

(4 9.9

(4 2

(4)
(8)
(4)
(8)
(12)
(16)

OO WN —

(1d) -
(2d) -
9-5=4



D (1) 5-2 =3 or 5-3=2 m
(2) 4+6 =10 or 6+4=10
3) 1+6 =7 or 6+1=7 A (1) - 2) - (3) + (4) - (5) =
(4 8-0=8 or 8-8=0 6 + (7} + (8 - (9 - (10) +
E (1) 6 (2) 6 B (1) 13-6=70r 13-7=6
F )4 (20 5 (3) 3 (4 6 (5 1 (2) 10 +10=20

(3) 12+6=18 or 6+12=18

m (4 17 -1=16 or 17 -16 =1

C (1) 4+7=11 7+4=11

A 51; 5.15 i (2) 5,5 Eg{ 3,25 [jl 4—,4,4 4 ,,*,4=7 11+-7.=4
5 -1, — omilg 2) 8+6=14 6+8=14
(7) §-3=2;2 (8) 7-5=2;2 Pl 14-6=8 14-8=6

Exercise 17
A (1)

(2 (3) O
s A\ o [}

DD o

(4)

mefle®

B (1) [; @] [:)D ;’@ {;J B (1)
Y 22292322 KK
“v 3000080000 el =--

? RARRRARRARRR “ B avA

Exercise 13 " & O-o
A1) 13 (2 11 (3 12 (4 20 0 =
(5) 16 (6) 19 ' W A~ A
CN @ s m o2 W cm ]
(5] 13 (6) 18 (1) 14 (8 19 4% raciangle
D (1) 15 (2) 18 (3 10,4 (4 10,7 ' —
£ (1) 16 (2) 19 o % W,
. " Ol
Circie
sgual’&

() 1517 (2 12,13 (3) 19,18, 17 ,

m N (2) 13 (3) 14
(1 18 (2) 15

9,10, 11,12, 13, 14 £ al Dm g ® D @ g o O

— =T 5

K 11, 14, 15, 18, 20
L 19,16,12,7, 4

(1) 14 (2) 19 (3] 17 (4 15 B

(5) 11 (6) 15 (7)) 12 (8) 12

(9) 19 (10) 20 (11) 17 (12) 16

(13) 20 (14) 16  (15) 17 (16) 18 ?D % |

il b L MR

(1) 4 (2) 8 (3) 4 (4) 8 c (1) € (2) B (3] B (4 D
(5 12 (6) 10 (7) 12 (8) 15 D (1) 7 (2) 3

(9) 6 (10) ¢ (11) 3 (12) 10 E (1) 6 (2) 4 (3) 3

(13) 8 (14) 7 (15) 6 (16) 8 F (1) 6 (2) 3 3 2 (4) 4
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A (1) lighter than (2) heavier than (3) heavier than

B (1) & (2) 5 (3) B (4 C (5 C

c (1) 5 (2) 10 (3) banana(4) banana
(5) cabbage

Exercise 21

A (1) No (2) No (3) Yes (4) Yes
B (1) 7 (2) 4
c ) 9 (2) 5

B (1) 4 (2) 2

C (1) Mary, 6 (2) Robert, 5

D (1) 2,2 2} @3

A (1) 8 (2) cars (3) 3 (4) 2

B (H 5 (2) Wendy (3) Julia (4) 13

c (1) 17 (2) apples (3] 3 (4) 6

o s 2y 3 {3) dolls {4) robot
(5) toy-car

A (1) 25 (2) 33
B : : 2

N

- \I 't
~Mlnry-lighrilr Fwanty ll thirty-six [lhurl‘y-mn&
C (1) 23 (2] 35 (3) 29
(6) 40 (7) 26 (8) 34
D (1) 23, 24, 26, 28, 29, 30
(2) 39, 38, 37, 36, 35, 32

(4) 31 (5] 37
(?) 22

A (1) 24 (2) 32

B (1) 7 (2) 30 (3) 34

C 3,4,7,92.11,12.14,15, 17, 18, 20, 22,
23, 25, 26, 28, 29, 31, 33, 34, 36, 38, 39

D (1) 27 (2) 36 (3) 29 (4) 15
(5) 40 (6) 19 7y 27 (8) 20
(9] 33 (10] 29 (i} 2i (iZj i3

E (1) 18 (2) 37 (3) 37 (4) 18

F (1) 12 (2) 40 (3) 40 (4) 12

A (1) 2,7 (2) 3,4

B (1) 2,3 23 (2) 3,65, 35 {(3) 3,3,33

C (1) 30, 39 (2) 23,14 13} 33, 42
(4) 34, 25

¥y

Exercise 27

A (1) 28 (2) 36 (3) 30 (4) 25
(5) 39 (6) 36 (7) 21 (8) 32
(?) 35 (10) 34 (11) 25 (12) 31
B (1) 5 15 (2) 4,14 (3) 9,29 (4] 9, 29
(5) 8,38 (6) 8,38 (7) 11,21 (8) 13,33
(9) 12,22 (10) 15, 35(11) 14, 34 (12) 10, 40
A (1) 12 (2) 28 (3) 35 (4) 23
(5) 19 (6) 34 (7) 39 (8) 26
) 17 (10) 15 (11) 21 (12) 38
B (1) 1,21 (2) 3,23 (3) 1,31 (4) 4,34
(5) 2,32 (6) 3,23 (7) 7,17 (8) 7,17
(9) 9,29 (10) 8,28 (11)717 (12) 9,29
C (1) [ sea-» 40-20-20]
(2) d+10=1d T |
(3) [12+8-2 | L2416 |
(4) 2414=18 23-9=14
(5) |26e5em | T
(4) (13420233 | ——— [36-3-33
(7) 17+8m35 | | 27-1=26 |
(8) [3+12415] [[23-8.15 ]
[9) |1o+16=26 :;o~o-w '
(10) 3941 =40 35-10=25
A (1) 9 (2) 2 (3) 15 (4) 20
B (1) a.18 b. 18 c. 8 d. 13 e 12 [ 19
(2) a 18 b. 10 e 15d 14 e 12 F 19
A (1) 1515 (2) 8,8 (3) 9,18 (4 3,612
(5) 4,18 (6) 2,16
B {1} l i AL i T I | T e ey ] I2
[AA|[AA ][ AA|[ AA
(2) ‘MA AAA||aaal|anal?20

| 5 groups of ?J[ Multiply 4 and 6 || 3 groups of 2 I

B (1) 25 (2) 3,8 (3) 34,12
(4 7,214 (5 6,3,18 (6] 5,5 25

c (1)
QF QF @@‘E‘_') CZ)@C) @Q@

Y %



Exercise 32

A1) 3,5 (2 4 (3) 4 (4) 8
(5) 5 (6) 3
C (1} 3 o'clock {2) 5 o'clock
(3) 9 o'clock (4)  half past 3
(5)  half past 12 (6) half past 10
(7) 7 o'clock (8) half post 4
A 5|? 37 &0
. as oo
i &
thirty-seven sixty fifty-one
B (1) 8,80 (2} 7,2 72
G [_forty-five | [ninety-nine| [seventy-three
() G4 () @ @ &
[Ceighty-two | |_fifty-four_| | sixty-one |
D (1) 44 (2) 52 (3) 36
E (1] 27 (2] 48 (3 50
(4) 36 (5) 75
(6) 83 (7) &4 (8) 39
{9) 100 (10) 1
F (1) 43 (2) 50
G (1) 6,65 65 (2) 9, 4,94 (3) 3,4, 34

A 12,13, 15, 16,18, 19, 20
21, 23, 24, 26, 27, 28, 29
31, 32, 34, 35, 37, 39, 40
42, 43, 45, 46, 47, 48, 50
51,53, 54, 56,58, 59, 60
61, 62, 64, 65, &7, 68, 69

B (1) 42, 44, 46, 40, 46
(2) 30, 35, 40, 25, 40
(3) 74, 64, 54, 54, 84

100

C (1) 40, 31 (2) 64,73
D 73, 74,77, 78, 79, 81,182, 83,85, 87, 88, 920,
92, 94, 96, 97, 99, 100

(1} 75 (2) 90 (3) 97 (4) 74
(5) 92 (6) 77
A (1) 37 (2) 53
B [1) 6,26 [2) 4,34 [3) 7,47 |4) 7, 47
{5) 10,90 (8) 13,73 (7) 13,53 (8) 12, 62
C (1) 4 40 (2) 6,60 (3) 7,70 (4) 7,70
(5) 9,90 (6) 10,100
D (1) &7
E (1) 50, 52 (2) 70, 75 (3) &0, 67 (4) 80, 82
(5) &0, 64 (6) 80, 89 (7) 90, 93 (8) <90, 98
F (1) 39, 39 (2) 46, 46 (3) 49, 49 [4) 78,78
(5) &2, 62 (6) 86,86 (7) 85, 85 (8) 100, 100
A (1) 42 (2) 54
B (1) 5,45 (2) 3,53 (3) 4,44 (4) 7,657
(5) 4,64 (6) 5 75 [(7) 7,87 (8) 9,59
C (1) 1,10 (20 7,70 (3) 3,30 (4) 4, 40
(8) 2,20 (&) 5, 50
D (1) 23 {2} 34
E (1) 10,17 (2) 10,19 (3) 30, 35 (4) 50, 54
(5) 30, 32 (6) 60, 66 (7) 40, 48 (8) 30, 31
F (1] 23,232} 31,31 [(3) 21, 21 (4) 85, 35
(5) 14, 14 (6) 29,29 (7) 24, 24 (8) 27, 27
A (1)
(2)
(3)
(4)
G leeee
DY ONORTED)
€ [ =hmme
ES[En
B (1) 40 (2) 80  (3) 95 (4 57
(5) 8 (6) 11 (7) 35 (8) 92
C (1)
D (2)
E (1), x(3)
A (1) 32-29 = 3, sunglasses, 3, shoes
(2) 12+4=16, 14 {3) 5-2=3,3
B (1) 80-65=15 15 (2) 3-1=2,2"
(3) 25+ 55 = BO, BO (4) 52 - 27 =25, 25




